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Key Messages

In Grammar:
Candidates are still struggling with the following grammar:

e Verb-subject agreement

e Use of appropriate case markers

e Past tense of irregular verbs

e Correctly transforming negative sentence into affirmative sentence

e combining two sentences

e Singular/Plural
In Reading Comprehension:
Candidates perform better on questions that require literal comprehension. However, many
candidates are still having difficulty with higher-order questions such as making inferences or
giving personal answers.
Giving the synonym of the words were found challenging by most students.
In Writing:
Candidates should be more careful with their grammar, spelling, and punctuation.
Weaker candidates have a lot of trouble with spelling and verb conjugation.
To maintain the reader's interest in essay writing, candidates should develop a storyline and
use a variety of language patterns and vocabulary.
Relevant information must be organized coherently, and ideas must flow logically in
functional writing.
Some candidates simply developed the given points one after the other.
The performance of students need to be further improved. Students should be given more
opportunities to interact with the language, in both written and spoken forms. Educators must
address two main challenges in the teaching/learning process, namely composition writing and

the use of case markers in sentence structures.

General Comments

The overall passing rate was 76.8 % for the 2021 NCE Tamil question paper which was within
the reach of most candidates. Across the competencies tested, a large majority of candidates
performed well on basic and intermediate tasks. Most students were able to answer multiple
choice, cloze exam, and translation questions, but comprehension questions remained a

challenge for the majority of the candidates. As a result, further reading comprehension practice



is needed. It was also noted that a noticeable number of candidates did not attempt both
Functional and Extended Writing components.

Candidates should be introduced to the types of exercises that appear in the paper so that they
can tackle it with confidence. Candidates who are struggling to acquire the language have been
observed making little effort to complete the paper. Only the multiple-choice questions were
attempted in some situations, while the open-ended questions were ignored. It has also been
observed that while some made an effort to write in the paper, they lacked the necessary skills
to achieve good grades.

Specific Comments

Question 1

Multiple-choice questions were used to assess knowledge and awareness of proper grammatical
structures. Many candidates were unable to distinguish between case markers, and some
students made mistakes as a result of poor reading skills. The paper tested grammatical items
such case markers, verbal participle, adjectival participle, and suffix. It consisted 10 multiple
choice items and 5 questions related to test the students’ basic grammar. Very few candidates
scored full marks. However, items related to case markers, vocabulary and verbs continue to
be problematic for many candidates.

The following are some examples of student errors:

Item 5: JEEIT oo LImev GUILedl6vemev.
This item was found challenging by many. Many candidates struggled to find the correct

answer which was @& Hfl6v. Candidates did not understand the meaning of the verb
Gurrr(®.

HEM 75 e eeeeeeeeeeeeeas @BSL LSS H&6T6L gm (NLHS S
The correct answer was &L edlwimeL but many candidates did not know which case
marker to use when there is (LD19.1& &I possibly because they are more familiar with
(P ULD /(LI WIS,

Item 11: This item required candidates to transform the given sentence in singular form.
Candidates had to transformed the 2 words LOIJ 518 61T & Tl Sl L_LeoT in singular.
Many candidates lost full mark as they transformed only 1 word in singular.



Item 15: In this item candidates had to transform the given sentence in affirmative. Many

candidates did not understand the word 2_L.edTLITL_(H). At least half of the population of
candidates faced difficulties in carrying out the transformation correctly.

While the expected answer was @ &6V6UITIF& 6T, several candidates wrongly answered as
BTEOENHES SUTHET &GMHMIVTEHES 2 LeTUMLIQL GQ&F6L6v
LOML LTS 6IT.

Question 2

The five multiple questions in Question 2 aimed at testing the basic understanding skills of the
candidates. However, many candidates could not give the correct verb as answer for item 5.
Candidates were confused with the given distractors and did not know which verb to use when
asking a question. Lack of exposure to correct structures is the main reason for these types of

error.

Question 3A: Reading of letter
The short note was well within the experience of the candidates. Most candidates were able to
attempt the questions correctly. However, candidates should be taught how to recognize basic

information in a text. It is also important to urge them to attempt all of the questions.

Question 3B: Reading of poster

On each of the five questions set, candidates were expected to write brief answers. While most
candidates performed well, few who resorted to indiscriminate lifting were penalized. In this
kind of task, the importance of brief and accurate answers cannot be overemphasized.

The following item posed difficulty to candidates:

ltem 4 IHGs BIGDFF aHHemerT LD6WIEGHS QSHTLBEIGLD? Many
candidates lost marks by answering LOTem6V HITEOT@ LO6UOI1 euemIy, which is a direct,

indiscriminate lift from the text. This answer also contains excess information and credit

cannot be given in such cases.

Educators are requested to instruct students accordingly in how to respond to these kinds of

questions in a concise manner.

Question 4: Word formation
In this question, candidates had to complete a text by effecting the required transformations.
The best done items were:



(i) ltem 2 S & G LI LIS 5SS F 6L
(i) Item 3 GeuSHLOMS HLIHSI CLIMTEOT TS 6T
(iii)  ltem 4 euGLILS CHmLA

Item 1 proved to be very challenging for many candidates. Candidates used the wrong case
marker for the verb @\ errLbL]. A common wrong answer was 6L (5 & @& whereas the correct
answer was eL_19.681(pH&I. This may be related to the fact that some candidates tend to

focus on specific words rather than deriving meaning from reading the sentences in their

entirety, resulting in a failure in comprehension.

Item 5 Many candidates lose mark for wrongly conjugating the verb GU& as
CU&& S TTSH6IT

Adequate practice in such type of tasks is imperative for improvement in the performance.
Question 5: Proofreading tasks with mistakes identified
Many candidates struggled to correct the grammatical and spelling mistakes in the given

passage.

Iltem 1

This item tested the transformation of the plural noun @mjlwemeu into the singular
G\l wi gI. This is a very common transformation and was well attempted by the majority of

candidates. However, some candidates lose marks for writing @ njl &I, € nflwl.

Iltem 2

This item was well done on the whole. Some candidates gave answers like 6u (5 H & IT T8 61T,

6U(HIH & ImedT which were clearly wrong.

Item 3

Writing the correct eT&& LD form proved to be difficult to a noticeable number of candidates.

some candidates gave the antonym of the word @ & ITevoT(H) 6u T

ltem 4



Transforming &IHeMm& into &6 & (& was within the reach of most candidates. A few

gave SHMmI6M& as an answer, but such answers were rare.

Item 5

This item was the one which posed the most difficulty to candidates in Question 5. Most

candidates had little difficulty finding the correct answer here.

The word [H 60T L16dT was wrongly written with a 60T instead of a gor and struggled to find

the correct answer. A common wrong answer was 60T LI 60T .

Students should be trained to read and understand passages of similar length and standard.
Teachers should not only discuss thoroughly the passage with the students but should also teach
them how to find the correct answers.

Question 6 A: Cloze Test
In Part A, words had been given from which candidates had to choose the appropriate word to
complete the text. Candidates performed satisfactorily on this part of the question. Most

candidates scored good marks in this question.

Question 6 B: Cloze Test

The Cloze Text remains a challenging task for many candidates. It is a higher order reading
task which requires the ability to rely on contextual clues to guess what word would be best
suited to fill the given gaps. As such, candidates should have both good receptive and

productive vocabulary to cope with this kind of task.

Many did not have the required vocabulary to provide plausible answers to the gaps provided.

Others provided answers which did not make sense on the overall context of the given passage.

ltem 1

This item was found to be difficult by many candidates. A negative verb was required here to

fit in the structure of the sentence but this was beyond the reach of many.

Iltem 2

This item was found to be challenging by many candidates. The required verb here was

&5 &S S1. Some other possible answers were, inter alia, @ MBI UG, HIeOLDHSSI.



Iltem 4

From the context given it should have been possible to deduce that an adjective was required.
A number of options were acceptable here: @& TLILD, FleorLd, elwiLiL], HemssLiL]. Many

candidates struggled to find the correct adjective.

ltem 5

A number of options was possible here: eTeoTG6u, 2,8 C6u, BemL &Flull6v. On the whole,
this item was satisfactorily done.

Candidates are advised to read their answers carefully to make sure that the items they propose

fit in the overall structure and grammatical coherence of the given sentence.

Question 7: Functional Writing

Question 7, which was an entirely new task in the assessment, assessed the ability of candidates
to write a 50-60-word text on a functional task. Candidates are primarily judged on their ability
to write with correct G/S/P and demonstrate a strong understanding of the audience and
purpose.

This year candidates were asked to write a letter. Successful candidates responded to all
prompts. Excellent answers demonstrated a clear understanding of the audience and purpose.
Grammar, spelling, punctuation, and syntax were all exceedingly precise. The vocabulary used
was adequate and correct. The overall task was well-organized and well-coordinated.

Weaker candidates lacked an understanding of their audience and purpose. Most of the cues
were either ignored or briefly handled. They had inadequate linguistic abilities, which resulted
in poor understanding. Mistakes pertaining to verbs, agreement, gender, cases and spelling
were observed. It was also noted that a number of students left out this component.

In order to score better marks candidates should be given more practice in writing simple
meaningful sentences. Educators are requested to guide students accordingly for functional

writing.

Example of a Band 1

S| 60TL|6T6T L&),

6UEDITE: S0, [HITEOT Hevld. Bl 2 6T QUMECMTHLD HeVLDMUI @) (H& B TS 6T
6TeoTMl HLOLSNCMeE0T. GLIMET QUMD [BTET 6(H LIMemed LLBI&STe S5 G LI
GUITGeuT60T. 3| &l QLI LOMT 2erflev Smevor LILIBGF M S,



MBS LIV 6GUGDOTEO0T 6UGDOTE00T LIM6EMGUSHED6ET @ (BHEH6OT . eUMenMLI
LUMI&&85 GaHITL S600T Geuevor(hLD. [HITET 62 SiLp&smeor LoWllemeull LIMTIE S
D&ELDHECSHET. & HeTg CHMTer&HenWl eNflSH SIS,

BT 6@ Ul STNMIsH GVSHMSUD LMTSCH6T. &6TsHH 60
IING&TeT ST WEHEHEHID  6THEH @ @hbHEH6eor. HTer L6y
LILMB1&606T 6T(h &GS 60T. [HITedT H&HS5HE &HTLHS Qeuuiledley Lisev 2 _6vore
FTUNLGLET. aTetldh@ @S QLI Wsabh NgsHGW0. BTeor mics
Sevor(hiLd GLIMs el LD CmedT.

QUUES,

9 60T [H600T LI6OT

Gz al.

This response receives a high grade since it addresses all of the bullet points, uses correct G/S/P,

and has a clear understanding of the audience and goal.

Example of a Band 2

S|60TL|6IT6IT Gl& 6V6M 60T,

6UEDTE: & LD 1H [HITEVLDITUL @ HESRMTWIT? GHMMI HTELD 6T60T QUMEMTIHLD
UTLCWEs CHMLLSIGSGL CUTGITT. 38 @@ SHeaujsd W&o
@QLLD. BIQS LIV lleVhIEGSeMETW LD NJHIGSEM6TUND &ITET6VITLD. [HIT60T
RH GTEHMS LITTSHCH6T. 98 QUG &6TEHSH) 60 LIGT 6163TE0TIT 61 60T60T IT
LSMBIGET @ (BIHSHE0T. [HITET LIV 6U6MEWITET LIMeM6IS6TL LIS G5 60r.
BT @@ FM SIMEG UTISGCHT. S HevsHew FfIL LG [HTeor
2 TG @ms umdlu asflalss al@GuLySRCmer. &ifl  meTum
6U600TE & LD.

QUL &S,

Gxeum

This answer demonstrated a clear understanding of the audience and purpose. Most points were

addressed. However, as there were occasional spelling mistakes this script could not be placed
in the top band.



Example of a Band 3

2J60TL| 6T QG TLg,

BT @@ SHUIFF WHE @LID UTICHT. & @h LL&Mer @)L LD.
IBICH LIV 6UNT 66D UITET LIMemeUdH6T @) (BHHSHS!. AmICS Liev GQuiflu
DT TBISGE @ BIHSITEOT. [HITEOT LI6V LILPMIGH6eV FMLILIL HTev L8658 60T. [HTeoT
MMlev Liev MIG6T LUMTCSHEIT. (& LDM&S (NI UWITS [HITET 3G LD.

QUL ES,

Q&evall

This is a poor response. There are several grammatical and spelling errors, which at times

threaten to distort the message. The grammatical mistakes are noticeable. Not all points have
not been addressed.

Question 8: Reading Comprehension

The comprehension task seemed to be quite difficult for most candidates. Many candidates
showed ambiguity in understanding the chronology of events, the content and context of the
passage. Some could not give meaningful answers to the sets of questions. Difficulties were
encountered with inferential questions, questions requiring an overall understanding of the text
and those requiring candidates to write out their answers. Many candidates faced difficulties
with questions that required them to draw inferences and read between the lines.

The following is a reminder to candidates:

+ Lifting is acceptable if the question does not require candidates to respond in their own
words, but it must not contain excessive information.

« Excess information in an otherwise valid answer is not granted credit.

» If proof of understanding is clearly indicated, grammatical and spelling errors are not

penalized.

Item 9

Candidates were expected to show that they had understood why Balan’s father was worried.
Many could not understand the meaning of the word &6uemeVLILILLIT. The required
answer was: &l LITVeMeNTSH ST SH6EVITID. But many candidates missed out this

answer.



Item 10

Many candidates lost marks because of the indiscriminate lifting WITeémeoT & 60T
L&SSHH QBHIEKRIE 6uUbHSCLIMS HTET 6T6dTe0r Q& LIWEVITID 6T6dT M)
LIT6V 60T GWIITH & & TeoT.

Item 12

Many candidates found this item to be challenging because it required an overall understanding
of the comprehension.

The expected answer was S| 6U60T 2eT[J L0 & & 6M 6T & ITLILIITM ) 60T TedT.

The following lift also was given credit:

W ITEM6UTSH 6T QLD GI6UMTEH S &) (HLOLINF Q& 60T M 6.

Item 13

This item proved to be very difficult, where the majority of the candidates lost 3 marks at one
go. Many candidates left this item unattempt. Nearly none of the candidates were able to write
the correct synonyms which prove that the given words were not understood by most
candidates. Some other candidates have attempted sentence writing instead of giving the

synonyms.

Question 9: Translation

Translating common English words in Tamil was done quite successfully in the first section. It
was noted that the majority of the candidates showed good translation skills for this section.
However, the level of response was minimal for the second part where there were omissions

of words and sentences.

Question 10: Extended Writing

The final question on the paper is the composition writing task. Candidates had to choose 1
question from the given 2 choices. This exercise assesses higher order skills in writing, such as
the ability to develop a given storyline imaginatively and creatively, to use correct grammar
and appropriate syntax to express one’s ideas, to use varied sentence structures and a rich and
varied vocabulary. Most candidates opted for question 1 which was to describe an event held
at school. The second choice was attempted by very few candidates. Candidates were free to

write a story from within their own experience or to make up an event.

While the imaginative development of the storyline can be acclaimed, the linguistic challenges
which candidates faced when writing longer pieces of prose remain. Subject-verb agreement,



the correct use of verbs, the coherent use of tenses and using correct verb forms were all
challenges faced by candidates.

It was also noted that a few students left the composition task blank. Educators are requested
to encourage students to attempt composition writing and guide them properly to score the

maximum marks.

The range of answers received was very pleasing, where a majority of students excelled by
scoring a band 1 descriptor. Educators are reminded that examiners are looking for an elaborate
development of the given storyline, the use of accurate grammar, the use of varied sentence
structures and the ability to use rich and varied vocabulary. Answers which are able to combine
all these elements will score highly.

A wide range of sentence varieties were seen in many students’ work including some very

complex ones.

— LD QUMD G M & U6V LI6v (LN & G\ WL TeoT B1& L0 & & 561
15600 L_G) LI 01 55\ 65T M 60T

— MG @ MG LD LI6V 6)600T600T 6U600T600T G LIMIHL_GH6m6TL] LIMJEHE6VITLD.

— umgmL@enrsGL DG BTHG6T ens &L 19 G6urTLD.

— EmW FoUILLMTSHES Q& meoor LT LILIL L .

— BMTHIGET QLG LILIMTLY 62(H HEV6V GLOLDMETLID GUTLGLITLD.

— ‘mmemevuiley BT  erglah  FrllLalévemev. 56TV  [HIT60T
FeQrerm l(WHGSH 60T, 6T60TMITEOT | 6)60T.

— [BIT6OT Y 6S [HITEDIGT 6T60T GUITLDIBITET (LN(DSILD LDME S LML GL60T.

Example of a Band 1 essay

b [BleM6TEY 6T6T LDETHL LGFemWTsS @ BhHeS. el & &8
6TEoTM) SMTUBSS. SLE0TTEVILD QLevedlwl STHm VAL
Q&Moo (BIHSH L. CLIMET L|&H6eoTHLoemn 6T60T SHevaumiflullev Liflar yerflliLy

flpm @D FMLILIIOTSHS Q& Mevor LML LILIL LS.

BT ABP&TemevUiley Wb LeTefli@ll GUTCeoTedr. [HTERILD  6T6dT

[H600T LIT&HEBHLD  6UGDOTE00T  GUGDOT600T  LIGVTEOTHETITEY @ MG Y mIGLD



SVBIGTID QFUGSHTID. LSS L0eollHEG &Hen6ey WMmMID  Lieoor LML (b
IMWFEFT HLD HVTGHG 6UHENEH SHSTH. eMNEFF(HLD HLD Hevayrifl
(PSHVEUIHLD HHEIGHET 2_6M I8 EM6T 2bMMIEOTTIE6T. 6TEVEVITIHLD &6U6DTLOTS &
G&HLLMTIS6T. WNme wAfluisesn InmeaoellsEesn SLlqLl
LMY eTMI&eT. Semn&sFy Csialled Qeumml QuUmmMmeTersGLl Uifla
Q&EMRSsTY. fnla CHIsSSHISGGL Llerery BT @@ UTL®
LMy Georedr. BT GHUileL GUMev W& @) evflemwimas Ll LMLy GeoT6dT. [HT6oT
HILLFF &L606v eLnLDE GeoTeoT.

GLOSYILD, 6T60T &M 6(@H Fenlowley GUITLIQUI6L LIMIE Q& MeooTLITH.
UMHES @M SHIHL LUSGEHESHD ROLESHTH. eaHLW (WNHSH6
NEILEFEF Ugellwg. euenll&IseT Ll &Heuaflé@ eUbSTIo6T.
afsar @LeSwb SHFFWD MmTISH6T. [BIHEIS6ET  6T6LEVTIHLD
QLI LMY 6@@hH [HEV6V GLmerd UL GLITLD. BTedr W& WHRDFFR UM
QBHCGH .

LIMLIS6V 62(H D600 8@ BHTERILD 6T60T 3&H&Ta D Il (h&HEG 2 MHEFTSHIDTES
G HOLINGeTITID. [BIT6OT MBS HITEMET 6T60T GUTLDBITET (LNERSID DM&HS
LML GL_60T.

The candidate has a gripping storyline, and the language is essentially flawless throughout. The

usage of vocabulary is outstanding. The story also uses a range of sentence structures and flows
naturally. An essay that meets these requirements will receive a high score.

Example of a Band 2 essay

QT HHIGL HLPEMLD STEVLD | ([HEMLOWITET @ BHSSH. QU6 ‘5558’
SMTUBSGE. ger UeTeflulley @6em& BT G&HMTEOOTLTIQWISI.  [HIT60T
LHLFRWTL @QHCHT. &Temeuiley eeTLZE  LDeooll6@G  edlpm
QsTLBIS WG LeTerflulel L6V SILDETET | 6VMBISTIHRIG6T @)THHS60T.LI6V
meTalfseT  pmealed SHeVbHEH QSHTEOTLTISH6T. S eUFH6T L6V
Bl&DEFSH6TlL HeuhHS G&TEOTLITIHET. [HTET @F OILP&TET LML 6V
LITLq. GeoT6dT. 6760T GG ITLDET GaU6V6dT 62(IH & 6)l6! & 600U 3, M 1) 60T 60T



Nousefled USSTID S  LOTEOTeUFTHET @@ [HLEOTD  ILIQ60TTIE6T.
6TLEVITIHLD M SHHTTIHET. BMOID gerT CHMPISHEH W&
LHLFRWTL @QbBCsHTL. wWHAFlWIHeT FTmid  LeSTILLWD
uflinrplermisseT. SemL Flullev LieTer] @mevor(h D6tol16E (P HSS. @S
IDM& S (NI WIS [BIT6T.

This is a good response, but it lacks the sophistication required to compete for a band 1. The

essay is relevant and well-organized. However, the occasional grammatical mistakes are
noticeable.

Example of a Band 4 essay

Q&FeTM LLMBISLPeMLD 6(H [HEV6V [HITET. &MTEVLD 3{([HeMLOUITET @ BHSHS!.
LieTerfluilev aflemerwimL_ (b GuUITLLY G\ &5 T600T LTI WIS 15 T60T
LHWLFRWTL @HCHeT. WHFlWFTHET UBSSTSH6T. WRAFlUTSH6T
GU&GLLMT&ET. BITeT 62585 CUITLIQUIE LIKIG Q&THEH60T. HIT6T (LNG 6V
@QLSH aUBGCH6T. BT WHPFRWMUI @ BHCSHET. HITedT 6(H Liflar
QUMEMEDT. [HITET (H LIML&HLD QUMEMEIT. [ FmiGeuest 6L &5 meoT.

LOTEoOTEUT 6T  WHWFRWTL  @QUHHSTISHET. eUTEHET  L6TSHTIN
FTUNSSTI&G6T. BTeor fl (& @& GLITGeorsor.
This is a poor response on the whole. There are many grammatical mistakes. The quality of the

language is also poor throughout. The sentence structures are very simple.



